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QUESTION 1

In three years how much storage capacity will the New York office require, per quarter, for archived data? 

A. 275 TB 

B. 350 TB 

C. 425 TB 

D. 500 TB 

Correct Answer: D 

 

 

QUESTION 2

A customer wants to upgrade their existing tape system, but they want to be sure that they will be able to restore from
previous tapes. How many previous LTO generations can an LTO tape drive read? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

An Ultrium drive reads data from a cartridge in its own generation and at least the two prior generations. 

An Ultrium drive writes data to a cartridge in its own generation and to a cartridge from the immediate prior generation in
the prior generation format. 

 

QUESTION 3

You are reviewing a proposal for a customer who wants to upgrade their HP Enterprise Backup Solution (EBS) to
increase the speed of their backups. They have several LTO-3 tapes that contain archived data, and they need to be
able to access that data after the upgrade. Their backup solution consists of HP Data Protector 6.2 and a tape library. 

Which upgrade will provide the greatest benefit? 

A. adding a tape library with LTO-5 drives 

B. adding a tape library with LTO-6 drives 

C. upgrading to HP Data Protector 7.0 

D. upgrading to HP StoreOpen Automation 
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Correct Answer: A 

 

 

QUESTION 4

A System administrator needs to ensure that backup replication is implemented according to the best practices. When
the administrator uses a Sizing Tool, which criteria must be identified to meet the replication requirements? (Select two) 

A. number of replicating sites 

B. number of servers in the environment 

C. frequency of each backup 

D. amount of data in each backup 

E. number of D2D systems that are replicating 

Correct Answer: DE 

 

 

QUESTION 5

A customer\\'s network has several servers that are connected to a single fabric. The network also has tape devices that
are connected to different fabric. The customer wants to connect the servers to the tape devices without merging the
two fabrics. 

Which SAN device will allow the customer to archive this goal? 

A. multi-protocol router 

B. network storage router 

C. iSCSI gateway 

D. converged network switch 

Correct Answer: A  
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